T — FY-452

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Time : 2 Hours
Part — II Cool-off time : 15 Minutes
COMPUTER SCIENCE & INFORMATION TECHNOLOGY

Maximum : 60 Scores

/ General Instructions to Candidates : \
® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

Answer any S questions from 1 to 6. Each carries 1 score. (5x1=9%)
1. port is used to connect the projector to computer.

(a) RIJ-45 (b) parallel

(c) PS2 (d) HDMI
2. are the smallest individual units in a program.

(a) Tokens (b) Keywords

(¢) Identifiers (d) None of these
3. is called ternary operator.

(@) # (b) ++

(c) I= d 7

4. Which among the following is a stream input function ?

(@) get() (b)  getch()
(c) getchar() (d) All of these

5. The transmission media which carries information in the form of light signals.

(a) Coaxial (b) Twisted pair
(c) Optical Fiber (d) None of these
6. is an attempt to acquire personal information by imitating the original
website.
(a) Phishing (b) Hacking
(c) DoS (d) Spoofing
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PART - A

1 2)®03 6 AUOHPWBH ¢a10BiIBEIB3 aBO@BIENS S af)FPOTIM POMOOAYLG)d>.
1 aved,03 allero. (5x1=5)

1. @0al50lemIs’ R  eISlaflenmM@Im  Dalc@IUilenaM@®IET’

Gal0dS.
(a) RJ-45 (b) parallel
(c) PS2 (d) HDMI
2. @IRYETN B0 CIIWIAIOL! a3QAI} 2l individual 2LISH6BUD.
(a) Tokens (b) Keywords
(c) Identifiers (d) snomommag)
3. @R ternary 39qjc0ga@.
(@) # (b) ++
(c) I= d 7

4. 0% 6305)ONGlENMAIRIG3 a@G@6m 830 stream input function ?

(@) get() (b)  getch()
(c) getchar() (d) All of these

5. @12000001608 0)aITIE3 HMBanBERH B OO DRG0 alQaM transmission alavlw

(a) Coaxial (b) Twisted pair
(c) Optical Fiber (d) None of these

6. @IB®N ealmMivaTLGlOm @RMAHAle]  AIYBTNaloA0W aflalosmyd
Ga10BEMMGIM)SBS UYJAREN’
(a) Phishing (b) Hacking
(¢) DoS (d) Spoofing
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PART - B

Answer any 11 questions from 7 to 19. Each carries 2 scores. (11 x2=22)

7. Rewrite the following using if ... else statement :

/[=a>b?a:b;

8. Write notes on arithmetic operators in C++.

9. Which are the fundamental data types in C++ ? Explain.

10. (a) Find the memory requirement of the variable m in bytes. 1)

float m[10];

(b) Find the value of x in the following code : 1)

int a[5]={10,20,11,55,34};

x = al2];

11.  Write any two differences between library functions and user defined functions.

12.  Match the following :

(A) (B)
(1) islower() stdlib.h

(i) exit() ctype.h
(iii) sqrt() string.h
(iv) strlen() math.h
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PART - B

7 23)®@3 19 2190088 ¢2103BSEI08 ago®Bslene 11 af)gPormlm 2oMOOAYI®)d:.
2 e@03 ailoo. (11 x2=22)

7. ®00% 6305)edlen) M if ... else statement Dalc@oufla] A0GlOW@)M; -

/[=a>b?a:b;

8.  Ct++eerarithmetic operators-0m @)l 3)0lOa ]9 1)

9.  C++ oel fundamental data types agal ? aflai@le)s,.

10. (a) m agam variable a3 memory requirement af)(@® byte af)an 6ne)allSlHe)d. 1)
float m[10];
(b) ©@09 6805 EIIEleNAM code He1 x O3 allel danelallalslen)d : 1)
int a[5]={10,20,11,55,34};

x = alz];

11. eeeiendl functions-9o user defined function-9o @olenss e QIK®LOATVEBUD

) )@

12, Gal®)oals] Gal@Bed :

A) (B)
(1) islower() stdlib.h
(i) exit() ctype.h
(iii) sqrt() string.h
(iv) strlen() math.h
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13.

14.

15.

16.

17.

18.

19.

Identify the types of the following literals :

‘\O” O’ ‘O)’ ((O”

Give any four rules for naming identifiers.

Explain any four Flowchart symbols.

What is Cache Memory ?

Explain ASCII code.

Find the value of X in the following :

(@) (204)10 = (X)2

(b) (111011), = (X),

Fill the chart :

Generation | Main hardware component

(i) First

(i1) Second

(iii) Third

(iv) Fourth
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13. @619 ea0s5)00ildleam literal-5:8)6S type @@lajolQpeds :
‘\O,’ O’ ‘O), ((O”
14, Identifier-m Gald M@H)M@IMSS aBO@BILN0 MILT TWABUB af)$10))d.
15.  agomsslen. moei Flowchart symbols aflaidleo)s.
16. agamoem Cache omond] ?
17.  ASCII ¢80 aflaidlee)e:.
18. @06y odos)owildlemmailen: X aag allel &mejallslea)d :
(@) (204)10 = (X)z
(b) (111011), = (X)g
19. 21085 an@lafloeyd :
22N COaU 3 (IWOM a00BAWHAIVWA *LISBo
(i) First
(i1) Second
(iii) Third
(iv) Fourth
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20.

21.

22.

23.

24.

25.

26.

27.

28.

PART -C

Answer any 7 questions from 20 to 28. Each carries 3 scores. (7x3=21)

Draw the symbol and truth table of basic logic gates.

Explain any three functions of Operating System.

Write the differences between RAM and ROM.

Write an algorithm to find the largest of two numbers.

How do console oriented functions differ from stream functions ? Give one example

each.

Write a program to print the day of the week when we input day number.

Compare entry controlled and exit controlled loops. Give examples.

Write any three advantages of networking of computers.

Explain any three services on internet.
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20.

21.

22.

23.

24.

25.

26.

27.

28.

PART -C

20 2)®@3 28 AUOEWBS ¢a1034BE @3 aBO@BIEI 7 af) GNOMM DONOOA)®)d.
3 aved,03 alloro. (7x3=21)

cenIild cel1oedld; gates ©a3 symbol-9o truth table-9o Q10 G .

830a]codlowy MIQUEDTIO ] age @aslen. aan functions aflaiclee)d.

RAM-90 ROM-90 @2ilenss aly@2avessdd af)9)@)d:.

QNE) MoaYBEIORI QIR ®anB)allSlemmailmss algorithm af)ey@)d.

Console s300lagaw’ functions-eo stream functions-9o af)eoneOm

Q@ PAVOSIBlENAM). B0} DBIAOMo AllGo af)$)@)d:.

@RYalienl AlaITVEDION Loty OISO ElalTVo (@A 1AM E@IdWNX0
)9} ).

Entry controlled-9o exit controlled-9o 100ps-&:08 @0®AY0 61211 DBICOOEMEIBUD

) )@

Moal))58 OMYIBSTUOG aBO@EBILI0 M)A NYEMETBUB af)$) @)

aRO@EILI0 M)A HABBOMY caLAIMEBUB AlUdEld:@l B>
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29.

30.

31.

32.

33.

PART -D

Answer any 3 questions from 29 to 33. Each carries 4 scores.

Write the difference :

(a) =and==

(b) +and++

State De Morgan’s theorem and prove using truth table.

Write a program to read and print MXN matrix.

Explain the different types of networks.

Discuss the advantages and disadvantages of Social Media.
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29.

30.

31.

32.

33.

PART -D

29 2)®@3 33 AOEWBS ¢a1034BE @3 aBO@BIEI 3 af)INOIM DONOOA)®))d.

4 vea»008 alloo. (Bx4=12)
QD@ PAVORNYD)H |

(a) =and== 2)
(b) +and++ 2)

De Morgan’s theorem (a1qpoafla) truth table 9alcouila] O@E69)H>.

630} MXN matrix Glaw ©210® (108 021Q)M@I MBS B0) G100 af) @)

aflalw ®oo 6EMQAIBH)H:UB ANUE] BB H8).

GOV @3 HAWIVWHS VYEMETBSB o EBIUEIBRYo AUOBHEIMo B2 1Y .
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